CCM8 - Quarter 2 - Week 5

Problem 1

Problem 2

6ridded Response

The largest elephant on

Find the product of the

Problem 2

record weighed 2.4 x 10* integers between
pounds. When elephants —V2 and—/20.
are born they weight about 8 8 g 8 8
110 pounds. About how OOIIOID|I®
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largest elephant compared 1202120 21e
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A square has an area of Order the following values Problem 1
z—i inches?.In inches, what is | from least o greatest.
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Using the equation Robert is shopping for cubic Problem 1
1 toy chests. One chest has a
_ 4 45 volume of 343 cubic feet.
find the value of xify =9. | 4\ other chest has a volume 8 8 8 8 8
of 64 cubic feet. What is [Oo[e[[0[e[[®
Wednesday the difference in the side 8 8 8 8 8 8
?
lengths of the two chests: Slolblelcle
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Circle the irrational values. | Find the value of Problem 2
0.27 - 4%
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Find the value of x. A piece of construction Problem 1
paper has a thickness of
B S 4.3 x 103 inches. A piece of

125 cardstock has thickness of 8 8 8 8 8
5.2 x 103 inches. How tall is 0)0)0)[0)0,[0)
a stack of 15 sheets of OO
Friday construction paper and 20 % % % % % %
sheets of calj'ds‘rc?ck?. WrITe ololelalble
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